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WRd § FreftiRea # & fva woe o
il BT ArAeT it & -

(A) g

(B) =T

(C) dm@a

(D) &I

8-

(A) Ha®l
(B) W :
(C) Hmopei —)

(D) ST

aﬁqwmﬁwaﬁ ﬁ’r‘c“iasﬁﬂﬁ’f
DR & -
(A) SIS
(B) et
(C) ==
(D) EHGHEIE
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4,

~generation in Indiqggﬂ:_

C]
Which crop among the following has
maximum area of cultivation in

India— ‘5'}

(A) Wheat G
(B) Sugarcane . _. .-
(C) Rice "%E'TE o
(D) Cotton 15 ‘?

Which of the followigg s pot aKharif

- crop - ; T

(A) Maize .

(B) Mustard A a

(C) Groundnut Sl (o)

(D) Bajra E o
Which city is Ca}l?%i d 'Silicon Valley'
of India - L L
(A) Bengaluru""sﬁ v (A

(B) Noida ¢ & (&)

(C) Chennai ""'wﬂﬂ'l'ﬁ ()

(D) Ahmedabad pr

Which one of the‘il%liowiﬁé'_’ﬁs the
ggest source Fof elé&ﬁicity

f M
!
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C
The first woman to receive the
Bharat Ratna award is -

(A) Mother Teresa

(B) Lata Mangeshkar

(C) Sarojini Naidu

(D) Indira Gandhi

In which of the following state,
general assembly elections were
not held in February/March 2022 -
(A) Uttarakhand

(B) Mizoram

(C) Manipur

(D) Goa

. What is the national motto of India—

(A) Satyémev Jayate

(B) Vande Mataram

(C) JaiHind

(D) Satyam Shivam Sundaram

. Where is the Samadhi (Sepulture)
~ of Adiguru Shankaracharya situated

in Uttarakhand —

(A) Badrinath

(B) Kedarnath

h /(C) Gangotri

(D) Haridwar

. 'Pneumonia’ disease affects which

part of the human body -
(A) Liver

(B) Intestine

(C) Lungs

(D) Heart
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12.

13.

14,

15.

s @ fse W & e A
mnﬁmmmmmqm-

(A) e it i

(8) gy ads

(C) wanRes

(D) e @il

i R o1 Yol g B A Q
5w wge & o oy -

(A) aRR & T

(B) 3/BER T BT

(C) FEMR & o1

(D) YTESTE & B

el & sifm o Bl 9 -
(A) &= a@gR
(B) T &I

(C) T3 AMaEIgY
(D) T e fig

WRE 3 31 9UH QR B -
(a) fafew

(8) %a

(C) &m

(D) gdmen

T3 IFHIEA I F U s @
WS 9% foan -

(A) ¥awr B

(B) @M@ T

(C) fog o

(D) &

3 C]

nistan was a part of India
he reign of which of the

was the last Guru of
Banda Bahadur

Guri  Harkishan
uruTeg bal'?adur
(D) Guru Gobind Singh

/ho were the first European to
:0me to India —
(A) The British
(B) The French

(C) The Dutch
D) The Portuguese

1$ Raja Rammohan Roy began to
publish which weekly -
(A) Sambad Kaumudi
(B) The Bengal Gazette
(C) The Hindu Patrika
(D) The Kesari

14.



16.

17

18.

19.

/
|
}
i wsu W T aiftre @S T @
et & -
(A) FR wewr
(B) IS
(C) W& wag
(D) 3TRUTRIET YeeT

Frioiea 7 ¥ foo e & e
BT RT3 feeen AR fean -
(A) 3P

(B) FEHIR

(c) 3ikaE

(D) wESTEl

FIREvS H, JUTE IS & R
&Y vep i el e oY -

(A) I (CERTGH)

(B) digt

c) =

(D) FMHIEER (3TCHIST)

TTgaTeT OIRE & Al = TRl
R et T & PR B o o7 ~
(A) Reerosd aneieH A

(B) 3TIEANT 3feieH H

(C) ST 3rasT 3fae §

(D) WRd BIg! 3ale §

16. Whic

12,

18.

[€]

h state has the largest aré@

under permanent forests —
(A) Uttar pradesh

(B) Rajasthan

(c) Madhya pradesh

(D) Arunachal pradesh

Who among the following shifted
the capital of the Empire from Agra
to Delhi —

(A) Akbar

(B) Jahangir

(C) Aurangzeb

(D) Shahjahan

Where in Uttarakhand, was a copy
of Emperor Ashok's Rock Edicts
discovered -

(A) Kalsi (Dehradun)

(B) Pauri

(C) Tehri

(D) Jageshwar (Almora)

19. The soldiers of Garhwal Regiment

refused to fire on the revolutionaries
in —

(A) Khilafat movement

(B) Non-cooperation movement

(C) Civil Disobedience movement
(D) Quit India movement
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22,

23.

24.

Fr=foRea # ¥ sitwa dfas a3

I &1 P T b 2m?

(A) fawa ¥ o aiR vl @1 R

(B) IR Id & &R ¥ gfix

(C) YHE Fal o ¥Hg I Uget S
T

(D) @ (A) 3k (B)

Raex Wpet @1 wan e 7o & fore
fevar strar & -

(A) TG DI Sl

(B) g &I am

(C) {H™ DI el

(D) X Bl UAT

ﬁm%ﬁaﬁﬁﬁ%ﬁmﬁaﬁmﬁq
< & | & S @ -

(A) WRd

(8) &

(C) q.w.e.

(D) W

7 By + grfioT e S |
c) TGAPHE

ﬁﬂﬁ@faﬂqﬁr@ﬁ'ﬁﬂ%ﬂﬂﬁ%—

20.

21.

22.

23.

24.

[c]

Which of the following would

indicate an increase in the average

global temperature? _

(A) An expansion of glaciers
around the world.

(B) Ariseinsea level. _

(C) Earlier freeze dates for major

lakes.
(D) Both (A) and (B)

Richter scale is used for measuring—

(A) Humidity of air

(B) Velocity of wind

(C) Intensity of earthquake
(D) Density of liquid

In which of the following countries
maximum number of languages are
spoken -

(A) India

(B) Britain

(C) US.A.

(D) France

NABARD is related to —

(A) National Agricultural
Development Organization

(B) National Board for Agricultural
and Rural Development

(C) National Bank for Agriculture
and Rural Development

(D) National Bank for Rural
Development

Which of the following pair is not

correctly matched —

(A) Hawa Mahal - Udaipur

(B) Jama Masjid - Delhi

(C) Charminar - Hyderabad

(D) Shershah Suri's Tomb -
Sasaram (Bihar)

P.T.O.
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27.

28.

29.

(A) 253 Faver gmy
(B) 42 9 Heler gy
(C) 44 o Woler &Ry
(D) 525!5'@'@]:]‘31“

RS & Wife a1 FfoRed 4 S
gﬁmmﬁmﬁaﬁﬁm%ﬁaﬁm

(A) 37FeT - 44
(B) 3% - 46
(C) 3% - 48
(D) 3rgesT - 17

b5 IRGR &I Fared Rifder Jae g
3 _

(A) 3R IR

(B) "J'B"ﬁﬁﬁ'

(C) UeIHA &1 Ter A

(D) dfec afua

TXIE & & TAl & &g 3iTerpad 3eRTeT
a7 B Tl &7

(A) 2¥HEH

(B) 3 W@

(C) 47EH

(D) 6

e & e Geier # R1en &1 HeeR
e &R dIeT U a1 3T 21 A
fnfera fasar mar?
(A) 86 df HNER
(B) 87 af Teem
(C) 88 df Geier
(D) 89 df e

25,

26.

27

28.

29,

[C]
The word 'secularism’ was inserted

in the preamble of the Indian

Constitution by-

(A) 25 Amendment
(B) 42 Amendment
(C) 44% Amendment

(D) 52" Amendment

Which of the following article of the
constitution of India is related to the
Uniform Civil Code?

(A) Article - 44

(B) Article - 46

(C) Article - 48

(D) Article - 17

The highest civil servant of the
Union Government is = -

(A) Attorney General

(B) Home Secretary

(C) Principal Secretary to P.M.
(D) Cabinet Secretary

What can be the maximum interval
between sessions of
Parliament?

(A) 2 months

(B) 3 months

(C) 4 months

(D) 6 months

two

Which amendment to the
constitution inserted a new Article
21 A providing Right to Education?
(A) 86" Amendment
(B) 87" Amendment
(C) 88" Amendment
(D) 89t Amendment
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32.

33.

-— 575"

SIS W5 AT w3 R S

AT 7T &, i O

(A) TR TamomT &Y Terar 3 3w
I

(B) U P Jdeb 3iR DleeIdi &
33U & foeT 3T S 21

(C) 3iftrs wEm gl

(D) IRFHH Y BE |

fr=fafea & 9 o= wr e oo
GES® (HDI) T ¢S el & -
(A) i =afs 3/

(B) T & T Sia Searen

(C) TP THID &

(D) & 3R diwor

gzﬂm%\%ﬁrw%—

(A) 1T B Y # &

(B) EROR P U bal H g
(C) T o 3gfet A B

(D) T B YT H &

S 33 et A B e e
ardlt S & -

(A) &rHHTST

(B) HEQHUSCT

(C) THATHUSE

(D) afEAUSe

30.

31.

32.

33.

Organic food is supposed to be

better for human health as :
It is raised on special chemicals.

(A)

(B) Itis grown without the use of
artificial fertilizers and
pesticides.

(C) Itis more expensive.

(D) None of the above

Which one of the following is not a
constituent of Human Development
Index (HDI) —

(A) Per Capita Income

(B) Life Expectancy at Birth

(C) Gross Enrolment Rate

(D) Health and Nutrition

Inflation is caused by =
(A)
(B)

Increase in supply of goods
Increase in cash with the
Government

(C)
(D)

Decrease in money supply

Increase in money supply

The maximum concentration of
ozone is found in which of the
following -

(A) Troposphere

(B) Mesosphere

(C) Stratosphere

(D) Exosphere
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35.

36.

37.

38.

pu22

¥R % wraffers st Rfverar s d
(A) T &7 dery

(B) g emmerr

(C) uflesdtore

(D) Hem yRg

RS D e vt iR S e
o & Yy -

(A) @9
(B) ~urer
(C) shemesr
(D) Uit

Frr=feiRaa # 2 B sneiia avf &1 v
BRI & -

(A) 3=

(B) FTSgISH SE3ia™Tss

(C) T SIS

(D) HET HFBTIES

anT e & g & -
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34,

385.

36.

Fil

38.

C

The most biodiversity rich area in

India is —

(A) Gangetic Plain
(B) Trans Himalayas
(C) Western Ghats
(D) Central India

India has longest international
border with which country -

(A) China

(B) Nepal

(C) Bangladesh

(D) Pakistan

Which among the following is the
major cause of acid rain —

(A)
(B)
(C)
(D)

Oxygen
Nitrogen dioxide
Carbon dioxide

Carbon monoxide

The exponent of Yoga Philosophy
is -
(A)
(B)
(&)
(D)

Baba Ramdev
Shankaracharya
Ravi Shankar

Patanjali

Which country is called the 'country
of winds' -

(A) Norway
(B) Denmark
(C) India
(D) Japan



39.

40.

41.

42.

T BOR Wpicrd garef & -
(A) BRT

(B) &RedA
(C) @
(D) wife=™

A 518 UV-ThRoit 2 ity
& 3 & T 1 8 Hobell 27

(i) wicRen-da @ aifa

(il) ST DI &fer

(i) T BT HER

(iv) 3THRYT & 30eR

(A) (i) 3R (i)

(B) (ii) 3R (iv)

(C) (i) 3R (iii)

(D) (iii) 3R (iv)

e 3 Y B 1 B T TR E -

(A) AT -3 B RE &

(B) AT e v & D B WA D
e gl

(C) I A @ fth e & Fobd
&l

(D) ﬂﬁnwsﬁa@'ﬁﬁﬂaﬁ%‘l

Rrog Rrers aw’ f&a fow w=man e
&

(A) 5 RamR

(B) 5 ATRR

(C) 5 TaR

(D) 1 3d

[c]

35"3. The hardest natural substance is —

40.

41.

42,

(A) Diamond
(B) Tungsten
(C) Iron

(D) Platinum

Excessive exposure of humans to
UV-rays results in —

(i) damage to immune system
(i) damage to lungs

(i) skin cancer

(iv) peptic ulcers

(A) (i) and (ii)

(B) (i) and (iv)

(C) (i) and (iii)

(D) (iii) and (iv)

Which of the following statement

is not true -

(A) Chatting is like e-mail.

(B) Chatting can only be done with
a single person.

(C) Chatting can involve multiple
persons.

(D) Chatting is an electronic
dialogue.

‘World Teacher's Day' is celebrated
on which day -

(A) 5 September

(B) 5 October

(C) 5 November

(D) 1 April
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45,

46.

é Sirer G637 X o e
(A) feriy

(B) IR

(C) Tlawrg

(D) v

MR AR W= FeRRavE 71 Wi
W & -

(A) Geate

(B) feebe

(C) ®egs!

(D) &t

¥ 2024 ¥ 3N@us WeT Haf N fETa
gﬁ.ﬂ-_ ’ .
(A) eifcar

(B) &5

(C) uR™

(D) i efoies

g 3T BIR' §&Id & dEd DI
&

(A) U.UL3N. 3G HeiH

(B) 3w AT

(C) TSI

(D) UH.TE. O

43.

44,

45.

46.

[c]

Which disease is diagnosed by

'ELISA test' —
(A) Polio
(B) Cancer
(C) Typhoid
(D) AIDS

Officially, the state game of
Uttarakhand is —

(A) Football

(B) Cricket

(C) Kabaddi

(D) Hockey

Where will the Olympic games be
held in year 2024 -

(A) Tokyo

(B) Beijing

(C) Paris

(D) Los Angeles

Who is the author of the book
'Wings of Fire' -

(A) A.P.J. Abdul Kalam

(B) Arundhati Roy

(C) Annie Besant

(D) M.S. Dhonj



47.

48.

49.

50.

R s e it Raemd) 1 7
2021 ﬁmmwmﬁ
sy fosar T -

aﬁfﬁﬂﬁmﬁmﬁamwg_
(A) sifoRe g4 &

(B) STRTH &

(C) 3ifRe Redl 8

(D) FTOREH T

47. which Indi

48.

49.

50.

[C]

an Woman hockey player
Uttarakhand Tilu

is honoured by
r 2021 -

Rauteli award in yea
(A) Rani rampal
(B) Savita Punia _
(C) vandana Katariya
(D) gushila Chanu

any districts of Uttarakhand

der —

How m

touch the international bor

(A) Three
(B) Four
(C) Five
(D) SiX

The first speaker of Uttarakhand

Legislative Assembly was —

(A) Prakash Pant

(B) Yashpal Arya

(C) Raghunath Singh Chauhan
(D) Nityanand Swami

What is the name of the campaign
recently launched for the safe
return of Indian citizens trapped in
war zone of Ukraine —

(A) Operation Surya Hope

(B) Operation Rahat

(C) Operation Return Home

(D) Operation Ganga



52.

53.

DU22

(v) wreg-amy

(A) (i), G, (i, (iv), (v)
(B) (iii), (iiy, (i), (iv), (v)
(C) (i), (i), (i), (iv), (v)
(B) (v, (v), (i, (iiiy, (i)

8 : 50 31 ¥ 20 e vget dom w1
UEE 5 AT B a7 Hegw g 5 4
40 BT &R ¥ 3y e s ¥ 30 e
g 3 TR 2| U7 Samse B dow @
e W @ar are

(A) 8:20
(B) 8:10
(C) 8:05
(D) 8:00

o TR B 2 Rt waRdfa € aft s
TEY HUR &1, Al T&9 A delt § a9y

BRTP
&g

(A) 6

(C) 3 (D) 2

[14]

a1.

52,

53,

C

Which alternative represents the
logical sequence of the words given

below -

(i) Diagnose

(ii) Doctor

(ii) Sick

(iv) Treatment

(v) Convalesce

(A) (i), (i), (iii), (iv), (V)
(B) (iii), (ii), (i), (iv), (v)
(C) (i), (i), (iii), (iv), (v)
(D) (iv), (v), (i), (iii), (ii)

Reaching the meeting place 20
minutes before 8:50, Satish came
to know that he had arrived 30
minutes before the one.who was
40 minutes late. Tell what was the
scheduled time of the meeting?

(A) 8:
(B) 8:
(C) 8:
(D) 8:

20
10
05
00

Two positions of a die are shown.
If 5is at the top, then what will be

at the bottom?

(B) 4

(A) 6
(C) 3 (D) 2
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85.

56.

Tor O ‘Gl 1 wier ‘g’ & &,
S WO G b e e 87
(A) R

(B) ifer

(c) fasma

(D) i

T : I T # I €
IR U B TR K Fr=feiea #
3 B oy Freprer 511 e &

v Vv
A A

(D)

v VvV
vV

(©)

IEV
A v

(A)

(B)

DuU22
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54, As

55.

56.

(A)

- (©)

(€]

'smoke’ is related to "Pollution’,
in the same way, '‘War' is related
to - '

(A) Destruction

(B) Treaty

(C) Victory

(D) Peace

statement : Every library has

books. :
Oon the basis of the above

statement, which of the following
conclusion can be drawn -

Some libraries do not have
readers.

Books are only in, the library.
Libraries are only for books.
No library is bookless.

(B)
(D)

From the given answer figures,
select the figure which will be
obtained by folding, punching and
opening the paper respectively as
shown below in question figures-
Question Figures—

N

1
»
H '
i
L= ===
"
’ "
'
'
[}

I Fo—

Answer Figures-

AV
AV

A AV VIV V

A AV VIA A

(‘x“) (l[i‘) ((::) (l:))

P.T.O.




58.

59.

60.

BF T DH 1 3% w7 § wiger &, sher s
PS &I FferRag 9 & -

(A) su

(B) Sv

(C) RV

(D) RU

I "LIGHT' T ge oa 'GILTH' 5o
STIT & a1 'RAINY' BT $e 81T -
(A) IARYN

(B) ARINY

(C) NAIRY

(D) RINAY

fopeit Ie W H,

125 = Go to school

146 = Study in school

135 = Run to school

'Run' & 01T BH-91 316 WA o
T 8-

(A) 1

(B) 2

(C) 3

(D) 6

D7 s

58.

59,

60.

C

Find the missing term (?) in

following letter series —
AZ, CX, EV,?

(A) GS

(B) GT

(C) FT

(D) HS

BF is related to DH in the same way
as PS is related to —

(A) SU

(B) sv

(C) RV

(D) RU

If 'LIGHT" is coded as 'GILTH', then
find the code for 'RAINY' -

(A) IARYN

(B) ARINY

(C) NAIRY

(D) RINAY

In a code language -
125 = Go to school

146 = Study in school

135 = Run to schoo|

Which digit is used for 'Run' -
(A) 1

(B) 2

(C) 3

(D) 6



61.

62.

63.

M & e 3 st % ¥ fiert
W 3MTpict HfRfEd &2
W MIpfed
ITR 3Bl

i
(A) (B (© (@
ﬁﬂﬁ'\ﬁaﬁ?ﬁmmﬁﬁ,ma@%
% wRReT B T BA?
e It

IR il

EEEIE]
() (B (©) (D)
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61.

62.

63.

64.

[C]

r figures given

Which of the answe
gure?

below contains the question fi
Question figure

e

Answer figures=

R

) (B (©) (D)
Which of the following answer figure
will complete the pattern in the

question figure?
Question figure

S
@

Answer figures=

7| 4| 4|2
| B2
@ ® © © |
A PR XS and Z are sitting in @
row. S and Z are in the centre. A
and P are at the ends. R is sitting
to the left of A. Who is to the just
right of P?

(A) S

(B) X

(C) Z

(D) None of these

If P is husband of Q and R is mother
of S & Q, then how is P related to
R?

(A) Sister

(B) Mother

(C) Mother in law

(D) Aunt
PtTIOI




65+ ¥ e e et ey ez -

66.

67.

68.

(A) dfar
(B) Qe

(C) expfirferas
(D) wirgr

W 7| Ui, sua A Ber d, afsT
Jq & gl e ey T | 30T
BH W g1 Bier & 3k R 2 et
T B | IRT HeW o B &2

(A) IH :

(B) R

(C) @He

(D) 30T

o= e § ge gl (P) & R R
B ¥ UG 3 -
a,d,c,f?hg?I

(A) e]

(B) e, k

(C) i, e

(D) f,i

PrafoiRad 3 & DF-A1 91 31H TN
3 R RAF W gAY -
(A) Transmit

(B) Transplant

(C) Transport

(D) Translate

rasn

65.

66.

67.

68.

[C]

Choose the odd word in the given

alternatives —
(A) Copper
(B) Brass
(C) Aluminium
(D) Iron

There are five friends - Sachin,
Kamal, Mohan, Arun and Ram.
Sachin is shorter than Kamal, but
taller than Ram. Mohan is the
tallest. Arun is a little shorter than
Kamal and a little taller than Sachin.
Who is the second tallest?

(A) Ram

(B) Sachin

(C) Kamal

(D) Arun

Which terms will come in place of
question marks (?) in the following
series —

a8 02, Ng. 2

(A) ej

(B) e k

(C) j e

(D) f,j

Which of the following word will
come third in the English dictionary?
(A) Transmit
(B) Transplant
(C) Transport
(D) Translate



69. ForTioia et o Ry sre-wiem W
@1 gfE 3 o e & R i -
(A) DG2
(B) EK5
(C) IR6
(D) RV3

70. Fr=feRRea Gl 8 4 99 v Fivad
SR A T & STefch I T e &
aglﬁﬁ?hgﬂﬁﬁ%EEﬁBFﬂfﬁqﬂﬁﬁhﬁ
i
(A) 17
(B) 15
(C) 13
(D) 11

Sroy frdy e et o ol ST ST
R () B T8 Tl -

(A) 23

71.

(B) 27
(c) 21

(D) 25

[19]

69.

70.

71.

6

[C]

In the following options, choose the

number-letter group which is
different from the others —

(A) DG2

(B) EK5

(C) JRE

(D) RV3

In following numbers, three are

alike in some manner while one is
different. Choose the one which is
different from the rest three —

(A) 17

(B) 15

(C) 13

(D) 11

Which number will replace the

question mark in pattern below -

anyanyan

(A) 23

'(B) 27

(C) 21
(D) 25

P lTIo'




72 %@wﬁamﬁﬁ%%%ﬁ’rmm

ST o sl grr vt
S AT @ Sy ey -

| TR 3MTehsieraf
B

D

&

&

&

5B

D

&

D

(A) (B) (C) (D)
73. GEr @ g aftror-uRam @ 3k &)
ag225°ma_trf3ﬂ’{ﬁﬂ'315oaf\maﬁ
Heil 81 9 319 fobwr fen &bt 3R 3=g
& _
(A) cfaorgd
(B)
(C) ITR-ufFw
(D) FR
74, T ¥ T SN 91 U ST 37 9adT &,
afe fav 0 SRS P e DI HIeHR o
1T 07
5
3 (1
6
4|2
VT4 5 ik Wi 7
Hﬂ 1 . _6 1 3
(B) (C) (D)

72. Select a figure from the given
options which will continue the
same series as established by the
Problem Figures -

Problem Figures

SF.

D

b

5

SE

(B

D

SE

D

(A) (B) (©) (D)

73. Suhani is facing towards South-
West. She turns 225° anticlockwise
and then 315° clockwise. Which
direction is she facing now-

(A) South-East
(B) East
(C) North-West
(D) North

74. Which of the following cubes can
be formed if the given sheet of
paper is folded to form a cube?

5
&) 1
6
4 | 2
2 2 v Py
6 1 2 ﬂ ”ﬁ
LY 4]
1
A
(A) (B) (©) (D)



75. S TR WEAT Newer ¥ vy Rery 6 &,

76.

e ot e A3 wdi & -

9639436693369363963
69

(A) 0

(B) 1

(C) 2

(D) 3

Rr=fafeg doftas I=i 7 9 39 T
&1 70T &%, 3 A e v & auit |
T8} g9 ST T | -

INCARCERATION
(A) RELATION
(B) TERRAIN
(C) INACTION
(D) CREATION

ﬁan—ﬁ&m(man%sn:ﬁﬁra“fﬂim

2 o3 3iR FreAfRad el B1 TR & -
P,Q, R,SSﬂTTfﬁE{E’JﬁﬁglEﬁgﬁﬁfﬁ
Sty ey 21 p 3R 5 Sifdafect wieeme
3 gifc Ry off Qe # T R ol B
i o sk 21 Geater Tl e
3/ ves Rarfea sigr & formd TUli 21 R
&1 oE Q & 3k 3 7 & o Rawgt &
sit 7 & gio Raeme &l

75. How many 6's are the

76.

[C]

re which are
preceded by 9 but not fqliowed by
3 in the given number series -
9639436693369363963
69

(A) O

(B) 1

(C) 2

(D) 3

From the given alternative words,
select the word which cannot be

formed using the letters of the given

word -

INCARCERATION
(A) RELATION
(B) TERRAIN

(C) INACTION

(D) CREATION

Directions (Questions 77 to 81) :

Study the information given below

and answer the questions that
follow : '

There are five persons P, Q, R, S
and T. One is football player, one is
chess player and one is hockey
player. P and S are unmarried ladies
and do not participate in any game.
None of the ladies plays chess or
football. There is a married couple
in which T is the husband. Q is the
brother of R and is neither a chess

player nor a hockey player.



77,

78.

79.

80.

81.

Peater Raemd) wig 7
(A) P
(B) Q
(C) R
(D) s

Tt RaeTdt i 7
(A) P
(B) Q
(CY'R
(D) s

oI Raeme) Bl &2
(A) P
(B) Q
(C) R
(D) T

T &I Ul DI &P
(A) P
(B) Q
(C) R
(D) S

& afgem & -
(A) PQR
(B) QRS
(C) RQS
(D) PR, S

77,

78.

79.

80.

81.

Who is the football player?
(A) P
(B) Q
(C) R
(D) S

Who is the hockey player?
(A) P
(B) Q
(C) R
(D) S

Who is the chess player?
(A) P

(B) Q .

(C) R

(D) T

Who is the wife of T?
(A) P
(B) Q
(C) R

(D) s

The three ladies are -
(A) QR
(B) QRS
(C) PQs
(D) PR, S




TR (5T 2 W 84) « 7t 5 3 24

82.

83.

& foe T Re e sm @ sweaa
B

SRrep afer 3 Prgst et # weeai
BT aFiaT &, @t # SRR wfersi o
zgitar o & 3R g it Afgemsi o
ggifan g

37&R D T SRt SRl € -

(A) Tiral ¥ e wieem

(B) Titg @1 ARISATR Higeme i e
T &

(c) Fftra SRR Afeem

(D) ffera Frefera wfeamd

Tt 3 Rifare IR wfgea B g
TR -

(A) AGRI

(B) BERI

(C) DERT

(D) EBRI

82.

83.

[c]

Directions (Questions 82 to 84)

Study the diagram given below to

answer these questions :

D\

B

The triangle in the above figure
depicts women in villages, the
square depicts the unemployed
women and the circle depicts the

educated women.

What does letter D represent —

(A) Uneducated women in villages

(B) Unemployed women in villages
who are not educated

(C) Educated unemployed women

(D) Educated employed women

Educated unemployed women in

villages are represented by -

(A A

(B) B
(C) D
(D) E




85.

86.

87.

(B) DSﬂTEm
(C) E3RFgrr
(D) G3REgrr

ST, = 1 3t ¥ o AR $ @
3} fawnforr &, a 27>81$9<6
& 79 FT BAT?

(A) 6

(B) 33

(C) 36

(D) 37H | BIg ol

afe 1 3rdeaR & f9aR &, aF 1 FasR
@I &N - |

(A) HFAR

(B) HIETAR

(C) §UarR

(D) TFAR

Fraffaa Tl A &Y 36! o T
¥ O e Tadie &9 51T Wb &,
31y 8 37 HigE &7

8,52 1,7,6

(A) 9

(B) 10

(C) 11

(D) 12

nili?2

C

84. Educated unemployed women are

85.

86.

87.

represented by -
(A) BandC
(B) Dand E
(C) EandF
(D) Gand E

If '<' means 'minus', '>' means
'plus', '=" means 'multiplied by" and
'$' means 'divided by', then what
would be the value of 27>81$9<67?
(A) 6

(B) 33

(C) 36 |

(D) None of these

If 1st October is Sunday, then 1st
November will be - '

(A) Monday

(B) Tuesday

(C) Wednesday

(D) Thursday

How many combinations of two-
digit numbers having 8 can be made
from the following numbers?
8.5,2 1,76

(A) 9

(B) 10

ey 1f

(D) 12



88.

89.

o0 Ll ]

ﬁ&“’m(i)aﬂ?(ii)wf&w
IS X Waiferer ) Ree Raedi o 3 o
SR G sl (i) 31k (iv)
S T W i B, 5t ameh
(iv) # v ferg @1 o 1)

=& >
(M (ii) (i) (iv)
I 3{@%3-[“’-

ODDD

(A) (B) (©) (D)

& Y s & Bt B wem
BT - -

A

(A) 5
(B) 6
(C) 8
(D) 10

C

88. Direction : Figures (i) and (ii) are

related in a particular manner.
Establish the same relationship
between figures (iii) and (iv) by
choosing a figure from amongst the
given alternatives, which would

replace the questions mark in fig. (iv).

Problem Figures—

T=IST2

(M Gy i) (v)

Answer Figures-

ODOD

(A) (B) (O (D)

89. Find the number of triangles in the

given figure-

A

(A) 5
(B) 6
(C) 8
(D) 10



ﬁéﬂ(mgﬂ_\qgﬂ:ﬁqﬁﬁgﬁﬁ.%m
v H, %ETrUaR%m (A), (B),
(©) 3R () % % anfr (x) ¥ v
aor s w1 T a1 ador
Stci=ferea Xear MN R fsar T 21

s

AN NSS!
(X)

= WM E- M

(A) (B) (C) (D)

91.

(A) (B) (¢) (D)
92. SR U ¥ PRI (X) AT | EBledd
arrepferdt 3 & 39 JPHT BT TFH B it
a@ﬁr(xﬁsmﬁaﬁwwfaﬁm

fopmfor BR-

sk

ey

(B) (©) (D)

(A)
pu22

[26]

[c]

Directions (Questions 90 to 91):1In

90.

91.

92,

[y g

each of the following questions,
choose the correct mirror-image of
the Figure (X) from amongst the
four alternatives (A), (B), (C) and
(D) along with it. The mirror is

represented by a line MN.

EANNNN\y
(X)

= WM -

(A) () (C) (D)

4

=

Given below is a problem figure
marked (X). Select a figure from
amongst the alternative figures
which exactly fit into figure (X) to
form a complete square.

sk

X)

>

(B) (C) (D)



93.

94.

ﬁmﬁi{wvﬁmmﬁ,qarmm%
SR Il (a), (8), (C) ailk (D)
%aﬁqiﬁm@ﬁr,%aanqgtﬂﬁw)

_OO
Al A
?

PAY-NPNEAY

(A) (B) (@ (D)
o1 feedt 9=l & TR S few e
& 50 ve @ BIEaR 3 gl A
e v 9IE THH U ¥ Hatd €1 98
g1 gfve frei 2 e 37T oK |
Haftra @ -

(A) O : BA

(B) dIET : II&

(C) ga:aH
(D) Her: BFe

93. Direction :

C

In the following
question, find out which of the
answer figures (A), (B), (C) and (D)
completes the figure matrix -

OI©
AL A
/Al ?

Al 6\ /6

(A) B (©) (D)

94 1In following options, four pairs of

words are given, out of which the
words in all pairs except one, bear
a certain common relationship.
Choose the pair in which the words
are differently related-

(A) Class : Students

(B) Sentence : Words

(C) Tree : Forest

(D) Hour : Minutes



D o1

Notesbg.Com

95, q%IP“LQ'WW?‘P,QasﬁaT@;
lpr]mm%'P,Qa'ﬂmg?.;
QT o
P ¥ - a + m e
ﬁﬁaﬁm%ﬂ‘ﬂ%‘?
(A) B, ASTaerd
(B) A, C&Iqerg
(C) B, Ad fUar &)
(D) C, BN AT &I

96. B fovae Raemel, SFwr Raeme & oo
fopepe Racms!, it Raemst =& 21
fr=feiRad 3 A B I 3 3IRE WD
ozt 1 TEY sl o 8?

O
@ @
ap D

pu22

[28]

C

95. If'P + Q' means 'P is the father of

Q', 'P x Q' means 'P is the brother
of Q'; 'P-Q' means 'P is the mother
of Q', then which of the following is
definitely true about C-A+B ?

(A) B is the son of A.

(B) A is the son of C.

(C) B is the father of A.

(D) Cis the mother of B.

96. Some of the cricket players are
tennis players, some tennis players
are hockey players, none of the
cricket player is a hockey player.
Which of the following Venn
diagrams correctly represents the
above statements?

® @
D %



97. ﬁ?ﬂﬁ&ﬂ:ﬁq@qﬁamﬁ'm
3PN qofaTer & 31eR) 1 Hae el
W’s‘! 3 fwer @ g 5 faE T
TS & Tt wieifde st R g -
FROG
(A) LsOC
(B) GORF
(C) oou4
(D) r¥O C

o 3R quferen & gea 3iR 264,
aﬂiaﬂizsﬁ,é’rﬂ%sﬂwﬁ,aﬂtg@r
@ g o i o ST o T &,
a’rﬁﬂﬁ'@raﬁﬂmaﬁyﬂﬁr%—

(A) GR

(B) CW

(C) P

(D) EV

98.

ﬁéﬂ(mmggu&m):é‘rnﬁrfrﬂ

W—m@ﬁ%ﬁﬁﬁaﬂﬁ-'@f@ﬂiaﬁﬁ,
ma@%ﬁﬁvwgﬁ_?i’@raqﬁrm
Bl &7
99. W 3PH T} el
y
THA Y
(a) (B (© (D)
100 5o ATpRI R SR
A0 |
nd?

(A) (B) (C) (D)

r-ani

[C]

97. pirections : In the following
uestions, You are given 3@
combination of alphabets. Choose

the alternative which most closely
resembles the water-image of the

given combination.
FROG

(A) eBOC

(B) GORF

(c) o0Y3

(D) L¥O0 €

If 1st and 26th, ond and 25th, 3rd
and 24th, and so on letters of the
English alphabet are. paired, then
which of the following pair is

98.

correct?
(A) GR
(B) CW
(C) 1P
(D) EV

Direction (Q. No.99 and 100) : Which
one of the given four answer-
figures can be formed from the

pieces given in problem figure ?

99. Problem Answer Figures
Figure
/CI
4N H HE':
(A (B) (©) (D)
100.Probl | i
Fir;ur:m Answer Figures
A0
o4
(A) (B) (C) (D)



101,

TS RIS B @RT 2 om 21 2 by
R R 0% ¥ % g9 v <
ST {85 5 @1 5T 37y 21

TR, A 375 S s (wrifts)

102.

103.

nii2

STTE BT &5 & (r=3,14 37 ) -

(A) 4 cm2
(C) 0.86 cmz

(B) 2 cm?
(D) 3.14 cmz

al 3il B fobah SO & 5 10 ¥

quicraT faufor 2 st &
(A) 10 (B) 9
(C) 90 (D) 99

= Frafia seys, Gt s &
gRRr 120 cm &, &1 o # eefe 3ER
ST I &1 399 SApHT B gRfEr & -

(A) 360 cm (B) 320 cm

(C) 300 cm (D) 280 cm

r=na

101.

102.

103.

C

Diameter of a coin is 2 cm. If four

such coins be placed on a table
so that the rim of each touches
that of the other two, then area
of the unoccupied (shaded) space
between them is (Take n=3.14)-

(A) 4 cm? (B) 2 cm?

(C) 0.86 cm? (D) 3.14 cm?

How many two digit numbers are
there which are exactly divisible

by 10?
(A) 10 (B) 9
(C) 90 (D) 99

Three regular hexagons of

perimeter 120 cm each are
joined as shown in figure. The

perimeter of this figure is-

(A) 360 cm
(C) 300 cm

(B) 320 cm
(D) 280 cm



194. i 2 R eep— g, o

105.

106.

5 +6
—‘?—: BT JF 81 -
(A) 2

(B) 5/6

(C) 3/4

(D) T & I 7&

TS AAAIHR qior {59! o
1024 cm 3R @3 240 cm &, @

T HBR & TMGR T o I
febar ST 81 SR et @ Y @Y
3T craTs &Rl -

(A) 8 cm (B) 16 cm

(C) 24 cm (D) 12 cm

fou Br-smart sl § 5 ®as, 8
f& R 3k 5 o &2

(C) (D)

C

104. If 42 : 165 :: m : 330, then the

105.

106.

E+6

value of m will be -

LI
3

(A) 2

(B) 5/6

(C) 3/4

(D) None of these

A rectangular courtyard of length
1024 cm and breadth 240 cm is
to be paved with same size of
square tiles. The maximum length
of the side of each tile will be-
(A) 8 cm (B) 16 cm

(C) 24 cm (D) 12 cm

Which of the three dimensional

figure has 5 faces, 8 edges and 5

vertices?

(A) A\ (B) L
A

(C) (D)




107,

108.

109.

DU22

TS X €5 B 12 5% % e gy v
D18 0 ¥ R oA 1 v e
RS PA-C L REE, F Bt S—
&1 af TR Y v e @
ST Y 5 6E 3 & w7 Roer o
STTET -
L'.?_
24
24
17

17
120

(A)
(B)
©)

1
(D) 3
U GHMGER avq & 3ifhd Ted W 4%
ol ge &1 81 aft avg &1 wa g
% 100 & 3R 98 20% &1 o4 AT &
1 3¥aT 3ifesd Hewr fosa=n 2 anfe-
(A) T96
(B) 120
(C) %125
() T 130

i fosdt o B 9D Y= B A
favar 5T, a9 &= H gfoea gfe
2f-

(A) 200%

(B) 250%

(C) 300%

(D) 400%

[32]

C

107. A pipe X can fill the tank in 12

108.

1009.

hours and pipe Y can fill the tank
in 8 hours. A third pipe Zempties
tank in 15 hours. If all pipes are
opened togather then after 5
hours, what portion of the tank

will be filled-
17

(A) 2

24

1'#

17
(C) 120

(B)

() 3

A shopkeeper allows 4% discount
on his marked price. If the cost
price of an article is ¥ 100 and he
has to make a profit of 20%, then

his marked price must be -
(A) T 96

(B) T 120

(C) T 125

(D) 130

If each edge of a square be
doubled, then the increase
percentage in its area will be -
(A) 200%

(B) 250%

(C) 300%

(D) 400%



110.

111,

112.

113.

WIH 25 f[THD E[UTTEB\T Pt & -
(A) 12.5

(B) 13

(C) 13.5

(D) 15

e i 31 gt & AR 3T B €l 20
el UEe a8 31U= A &I 39 BT IR
gmmlsqa?raﬁm:r:{gm%?
(A) 24TF 2T

(8) 7203364

(C) 48Ud24TY

(D) 44042279

1 1

a0, =i

e ddu, +u, +u;

W=

391 o. 9. 48 &1 3 < GETHI BT
7.9, 8Nl -

(A) 4 12

(B)

(c) 16 (D) 24

[33]

C

110. The average of first 25 positive

111.

112.

113,

integers is -
(A) 12.5
(B) 13

(C) 13.5
(D) 15

A father is twice as old as his son.
20 year back, he was twelve
times as old as his son. What are
their present ages?

(A) 24 & 2 year

(B) 72 & 36 year

(C) 48 & 24 year

(D) 44 & 22 year

, then th-e value of

10, =
n n+l

u1+u2+u3+u4+u5is—-
(B)

1
3
®) *

If two numbers are in the ratio
3:4 and their L.C.M. is 48. Then

the H.C.F. of those numbers will

be -
(A) 4 (B) 12
(C) 16 (D) 24

P.T.O.




114, ; :
ﬁ“‘ﬂ@ﬂaﬂmﬁmmm
Wﬁ%rwﬂaﬁwmmgma
152 B S B ) e -
(A) 40 (B) 70
(C) 80 (D) 100

115. O Ju of uRfY fovet 22 3. s
aﬁ.aitrﬁumaswélsﬂqr—rm
&A% B
(A) 49mcm? (B) 196n cm?
(C) 484ncm? (D) 28ncm?

116. FETIPN GG IH T -
o - iG=D
(© g (®) X

117. uﬁ%:;—,aa:il;aﬂuﬁe’nﬂ—

1

(A) -3 B® 3

() 2 (D) -%
DU22

[34]

114,

115.

116.

117

C

The ratio of two numbers is 4:7.

On subtracting 10 from each
number, the ratio becomes 1:2,

then the greater number is —

(A) 40 (B) 70

(C) 80 (D) 100

The circumference of a circle is
equal to the perimeter of a square
of side 22 cm. The area of this

circle is -

(A) 497 cm? (B) 196w cm?

(C) 484x cm? (D) 28n cm?

Which of the following is an open
curve-

a 1
If EZE’ then the value of a+b
a_
will be -
(A) -3 (B) 1
2
(C) 2 (D) _1




118. AR wsr & siqaol F1 I

119.

120.

8.:4:5:6 8 a Tz & DN Bl
A 8-

(A) 30°, 40°, 50°, 60°
(B) 90°, 120°, 150°, 180°
(C) 60°, 80°, 100°, 120°

(D) 60°, 80°, 95°, 125°

J6:vorvor.... DTAAE -

(A) 2 (B) 3

(C) 6 (D) 9

a8 B ¥ Bié) G same 54 24,
30 31Kk 54 ¥ e v R TS
o ¥ SY§theT 5 AT el & -

(A) 1080 @) 1075

(C) 1085 (D) 1090

121. i nuE QUi 91 &, 99 HE=1

(n3-n) ﬂﬁﬁﬂﬁﬁaﬁ% s
119
(C) 69

(A) ® 5%

0) 79

118,

119.

120.

121.

C]
If the ratio of internal angles of a
quadrilateral is 3:4:5:6, then the

angles of quadrilateral are =

(A) 30°, 40°, 50°, 60°
(B) 90°, 120°, 150°, 180°
(C) 60°, 80°, 100°, 120°

(D) 60°, 80°, 95°, 125°

The value of Jg+£+,!6+,___, is -
(A) 2 (B) 3
(C) 6 (D) 9

The least number which divided
by 24, 30 and 54 leaves 5 as

remainder in each case, is -
(A) 1080 (B) 1075

(C) 1085 (D) 1090

If n is an integer, then (n3-n) is

always divisible by -
(A) 11 (B) 5

(C) 6 (D) 7



122,

123.

124.

125.

DU22

ﬁum}%ﬁmﬂﬂﬂ.%ﬁﬂim

8 sBoc B AT R -

)

60° (B)
1200 (D)

(A)
(C)

300
150°

U dell H 99l 10 faenffal o uRr
(fesm #) s g & -
33,35,38,39,40,41,42,43,44 45

$Y BT H 3ia uR ¥ 3iftie WR
(A) 40 (B) 5

(C) 6 (D) 4

A BT Ja9 B ¥ 50% 3Hferd &1 B &I

359 A $ a1 & b wfcea a9 27
331

(A) 50 (B) 333

2

(C) 665 (D) 25

TrorA Ut 3THIGY T3 @ ATferasr

& _

(A) 5 (B) 5.6

(c) 7 (D) 28

[36]

122. As per the given figure, there is

123,

124.

125.

an equilateral triangle inside a
circle. If O is the centre of circle

then ~BOC is equal to -

N

BC
(B) 30°
(D) 150°

(A) 60°
() 1208

The weight of all 10 students in a

class (in Kg.) is as -
33,35,38,39,40,41,42,43,44,45

The number of students having

weight more than the average

weight of the class is -

(A) 40 (B) 5

(C) 6 (D) 4

A's salary is 50% more than that -
of B. How much percent is B's
salary less than that of A?

(A) 50 (B) 33%

© @ @ s

The median of first five prime

numbers is -
(A) 5 (B) 5.6
(€) 7 (D) 28



€]

126. ©® EH! UH [RMET HiaEed B 126. A man bought an old mobile

% 4000 H wRieer & 3k R 39 ohone for ¥ 4000 and spent
% 2000 & FRaT &l 98 39 T 7,500 £ 2000 on it. He sold it for T 7500.
H 97 a1 81 39! @y e @ - His gain percent is -
(A 1500 (a0 (A) 1500  (B) 50
(C) 25 (D) 15 (C) 25 (D) 15
2 3 4 2 3 4.
197 =3 3R - BTEAHI. 2. 127. TheLCMof 3, ¢ and 5 is
12
12 L B) 4
(A) = (B) 4 (A) 3 (B)
24 24
€ 75 (D) 12 Y 1 (D) 12

128. If axb=(a+b)?, then value of 3*7
is —

(A) 25 (B) 10 (A) 25 B) 10

(©) 20 (D) 100 - (C) 20 (D) 100

128. T axb = (a+b)? AT 3x7 BT AH &-

129. 89071 H 9 ¥ 3ifepd (FT) AF MR 129. Sum of face value and place value

wﬁumﬂmg_ of 9 in 89071 is -
(A) 9000 (B) 9071

(C) 18000 (D) 9009

(A) 9000 (B) 9071
(C) 18000 (D) 9009

130. The Roman number form of 96

130. 96 T H TN ¥ & - _
15 -

(A) IXVI (B) IVC -
(C) Xcvi (D) LXXXXVI (B) IVC
(C) Xcvi (D) LXXXXVI
131 (256)% BT HA & - 131. Value of (256)%4 is -
i iy (A) 192 (B) 16
(C) 64 (D) 8 - i

DU22 371



132,

133.

134.

135.

pu22

U U T 3T U BT 5 e,
Toreeht e o 6h., aheré 6 W,
3R e 4 ¥, & R R o B

ST & eTvas BN -

(R) 21637, (8) 8

(© 43 () s¥h.

I8 BT ¥ BIEY W saEe SR
19404 BT 9T & R U o atf v
Tt gt & -

(A) 2 (B) 3

(©) 7 (D) 11

&Y T3l T AT 14 U9 3R 10 €l
3 A3 T OB 8N -

(A) 12 (B) 24

(C) 140 (D) 68

Sy 99g ¥ @18 o 10% dIte

HTETROT &1 1 &% W AT & ST
(A) 5T ) 10TH
© 159 (@ 20T

[38]

C

132. The volume of a cube is same as

133.

134.

135.

the volume of a cuboid having
length 9 cm, width 6 cm and

height 4 cm. The length of the side
of cube will be -
(A) 216 cm (B) 8 cm
(C) 4 cm (D) 6 cm

Find the least number by which
19404 must be divided to get a

perfect square number-
(A) 2 (B) 3
(C) 7 (D) 11

The sum of two numbers is 14
and their difference is 10. The
product of these numbers will be-
(A) 12 (B) 24
(C) 140 (D) 68

In what time does a sum of
money become two times at the
simple interest rate of 10% per
annum?

(A) 5 year (B) 10 year
(C) 15 year (D) 20 year



126.

127.

128.

129.

130.

131.

nimMm?2?

RIET
%4oooﬁ@ﬂam%3ﬁ?ﬁﬂaaw
¥ 2000 W& g 3| 98 39 ¥ 7,500

ﬁéﬁﬁﬁr%lmmwﬁm%—

(A) 1500 (B) 50
(C) 25 (D) 15

2 3 4

3 I sﬁz;asra.ﬁ.tr.%-

12

(A) el (B) 4

&y, o 2
(C) 105 (D) 1

MG axb = (a+b)2 AY 357 FI A 2-

(A) 25 (B) 10

(C) 20 (D) 100
89071 # 9 o 3ifes (1) 7 31k
TG J9 &7 AT & -

(A) 9000 (B) 9071
(C) 18000 (D) 9009
96 BT AT T Y & —
(A)  IXVI (B) IvC
(C) XcvI (D) LXXXXVI
(256)* T AN & -

(A) 192 (B) 16

(C) 64 (D) 8

126.

127.

128.

129,

130.

131.

ey 20

C

A man bought an old mobile
phone for ¥ 4000 and spent
¥ 2000 on it. He sold it for T 7500.
His gain percent is -

(A) 1500 (B) 50
(C) 25 (D) 15

2 3 4 .
The LCM of 3 3 and 7 is -
(A) % (B) 4
(cy 2 (D) 12

105

If a*b=(a+b)?, then value of 3%7
is =
(A) 25 (B) 10

(D) 100

Sum of face value and place value
of 9 in 89071 is -

(A) 9000 (B) 9071

(C) 18000 (D) 9009

The Roman number form of 96
is -

(A) IXVI
(C) Xcvi

(B) 1vC

(D) LXXXXVI
Value of (256)3/4 ig —

(A) 192 (B) 16

(C) 64 (D) 8



136.

137.

138.

139.

Ra:b=2:33Rb:c=6:5a
a:b:c® HH FARP -

(A) 2:3:5 (B) 4:6:5
(C) 2:6:5 (D) 2:2:5

afe p, q, r, s a7 ¢ O wHERE favw
T=E g, @ F A I e e
3t e & -

(A) pt4
B r
p+q+r+s+t
() .
pgrst
B ¢
geysT & Wil 370N T ANT B
&
(A) 120° (B) 360°
() 540° (D) 720°
of% ve aeE @ aeR 3k Ol
waer: 7 A1, 3R 6 A, &, Tur 59w
210 #Y.° g 377 @, Y 5! TR
S
(A) 5. () 7.
() 10 ) 37

136.

137.

138.

139,

C

Ifa:b=2:3and b:c=6:5, then find

the value of a:b:c -

(A) 2:3:5  (B) 4:6:5

() 24635 (D) 2:2:5

If p, g, r, s and t are five
consecutive odd numbers, then
which of the following is not their
average-

(A) pt4

(B) r

(©) p+q+;+s+t

pqrst
o =

Sum of all internal angles of a

hexagon is-
(A) 120° (B) 360°
(C) 540° (D) 720°

If the length and width of a pond
iSs7mand 6 m respectively and

it contains 210 m® water in it

I

then its depth will be-

(A) 5m (B) 7 m

(C) 10 m (DY ?m



140.

141,

142.

143.

TP SATIRY 3T a3l R 376
Tedt & 20% 37 e oot o &
IR o & W 10% g T A
3BT T wicrerd & -

(A) 10% . (B) 30%
(C) 12% (D) &%

i 500 BT x%, 300 P y%d <6< &

Ax:yd-
(A) 5:3 (B) 3:5
(C) 5:8 (D) 3:8

11.3%x11.3-2x11.3x1.3+1.3x1.3

TR & -
(A) 100 (8) 10
(c) 158.76 (D) 114.69
1- ]1 HTAAE -
l+—
I
J 4=

2
(A)
(B)

8
5
2
5
5
(©) 3
(D) T DI el

140.

141.

142.

143.

C

A trader lists his articles 20%

above their cost prices and allows
a discount of 10% at the time of
sale. His gain percent is —

(A) 10% (B) 30%
(C) 12% (D) 8%

If x% of 500 is equal to y% of
300, then x:y is =

(A) 5:3 (B) 3:5
(C) 5:8 (D) 3:8
11.3%x11.3-2x11.3x1.3+1.3%x1.3

is equal to-
(A) 100
(C) 158.76

(B) 10
(D) 114.69

I
The value of 1- 7 is -

14—
1+

-

(A)

(B)

(C)

@t i ;o

(D) None of these



144,

< SREE 3+ 4 e # )
A, 84 2| 39 ¥ 95 T=AT & -
(A) 7 (|®) 12
(© 21 (D) 28

145. T m 3R n o w9 g fow guie

146.

Heee & 5 fop wfcer 11 < m<13d@
12 < n < 14 B HIT BT & dl m+n
HT 7 &IT-
(A) 23
(C)- 27

i

(B) 25
(D) 26

U &I & 70 BrAT A | Y B BH
A BY U Vel Werdl &l afd 40 B
f5wpe 3k 37 B S Weld § a9
®) 3

D) 63

(A) 77
© 7

Prfar (070 147-148) - Rr=ferRaa ars-ac

awﬂgﬁmmﬁﬁvsﬂ?m
7 3 S wré-ae ¥ fafte sar
q it @it @ Wi e T Bl

el cimil @ WA = 20,000

C

144. Two numbers are in the ratio 3:4.

145.

146.

Direction (Q. No. 147-148)

Their LCM is 84. The greater
number in them is-

(A) 7 (B) 12

(C) 21 (D) 28

If m and n are even and odd
integrers respectively which
satisfies the conditions 11<m< 13
and 12<n<14, then the value of

m+n will be =
(A) 23 (B) 25
{C) 27 (D) 26

In a class of 70 students, every
student play atleast one game. If
40 students play cricket and 37
students play hockey, then
number of students who play both

the games will be -
(A) 77 (B) 3
(C) 7 (D) 63

: Study

the pie-chart carefully and answer
the questions. The pie-chart
represents the percentage of
people involved in various
occupations.

Total number of people=20,000




147,

TR Y e 3 v # e e
B e Readt aifres &7
(A) 1000 (B) 2000

(C) 4000 (D) 5000

148, B & ¥ fosery ART o € -

149,

150.

(A) 6000 (B) 3000
(C) 1800 (D) 3300
AT B TS BT I URIEKR &, 37 e

BT U 5 : 4 &1 T D! B He
% 14,400 BT 714 37T A A DI AT &l
e feean ferr?

(A) T6400  (B) 8000

(©) %9000 (D) ¥ 9400

RrefaiRaa 3 & Bi T TSI
o Y30 e & -

(A) 9cm, 15cm, 12.cm

@) 2cm,lcm,y5¢cm

(©) 3cm, 4cm,5cm

(D) S5cm,7cm, 9cm

147.

148.

149,

150.

E]

How many more people are

involved in service than in trade?

(A) 1000 (B) 2000

(C) 4000 (D) 5000

How many people are involved in

agriculture -
(A) 6000 (B) 3000
(C) 1800 (D) 3300

A and B are two partners in a firm
sharing the profit in the ratio 5:4.
If the firm earns a profit of

¥ 14,400, then profit to be
received by A is —
(A) ¥ 6400 (B) T 8000

(C) 39000 (D) ¥ 9400

Which one of the following are not
the sides of a right angle triangle -
(A) 9cm, 15 cm, 12 cm

(B) 2cm, 1 cm, 45 cm

(C) 3cm,4cm, 5cm

(D) 5¢cm, 7 cm, 9 cm



151, Riered B v o emar o 5

152,

fore @t wvaror R s 22

(A) SifHemar wemor
(B) G T
(C) Juafeer gRraror
(D) TR wemor

I difgd emdar & e sreamT §

Fﬁ?fSlTé‘ﬂF,EIH%=

(A) TIP3 H@E el Ul ¢

(B) ®H BM BT U &

(C) &g GRT 31 & SHMT TIed
&l

(D) 3167 HT Tk 9T Sia e
T & |

151.

152,

C

Which test is carried out to

determine the ability of learning
of a teacher ?

(A) Aptitude test

(B) Attitude test

(C) Acheivement test

(D) Scholastic test

People of high intellectual ability

come into teaching only when

they-

(A) find no other occupation.

(B) want to work less.

(C) want to earn more money
through tuition.

(D) wanttolead a challenging life

like a teacher.



153. i o & e -

154,

155:

DU22

(A) foaT 3 Rerfer e 2
(B) Hrar ot Reifer o R 2

(C) Forr = fichdh oY Ry of @ &

(D) IR TN

ferermerar I BT & e @7 R -

(A) SFRIR Pear freror 7 25
(B) BTl 3 ¥1em # sfa 7 M1

(C) BEl & gug 7 1|
(D) 3TETTUD! BT THEIT & Wi 3THH
el

e H foRepa ads @1 genfag
SJaER ENT-

(A) sprergof
(B) Il
(C) "ABRIHD
(D) il Sr

raa=x

153

154.

155.

Teacher to student is-

(A) in the position of the father.

in the position of the mother.

(B)

in the position of friend and

(©)

well wisher.

(D) all of the above

The reason of running away of
students from school is-

(A) lack of interesting classroom
teaching.

(B) lack of interest in education
of the students.

(©)
(D)

not punishing the students.
indifference of teachers

towards the problem,

The likely behaviour of 3 despised
child in the class wil| be -

(A) furious

(B) enthusiastic

(C) negative

(D) runaway



156.

157.

158.

TE-T SRS 2 oY 25 s et
Hewaqul HROT & -

(A) IRR-SRHIT T B HH
(B) o & Awger & &1

(C) fawg & s & ol

(D) TIS®I B T HOR TGER

IS DI —

(A) 3TEITI 3RH & 3 Y4 U1S B
e SR arfeel

(B) 310=It HT9T & G&7 & anfee|

(C) m#%wﬁﬁgwmar%vi

(D) 3 |

a8 eI SN 370 BrE B

ST B H Tha 7 &l e &, 39

e foh -

(A) g 3o Rreqor fafér &1 g
PP ITH YUIR A

(B) @& 319+ U& ¥ N7 & ¢l

(C) o& 31 i ot e el

(D) € BERT &1 IR 7R 2|

C

156. The main reason behind the failure

1575

158.

of a newly appointed teacher is-

(A) lack of inter-personal

relationship.
(B) lack of communication skills.

(C) lack of subject knowledge.

(D) strict behaviour with

students.

Teacher should-

(A) introduce the chapter before

teaching.
(B) be proficient in his language.

(C) be an expert of his subject.

(D) All of the above

A teacher who is not successful

in attracting his students should-

(A) improve his teaching method
by analyzing it.

(B) resign from his post.

(C) find mistakes of his students.

(D) start giving dictation.




159,

160.

161.

gl 3P T B GRER F 30

gﬂg&fﬂﬁ?aﬂﬁﬁa‘rmw

(A) WETHTE @ i &< Tiee|

(B) 3 Sifrvrac! B Gferd o
Tliee|

(C) 31 W & alRa 91 59 &
AEAH ¥ 3d TaER H FUR
T afee]

(D) 39 BT & fawg 3/ 3reamIdt
& TEIdT ¥ AHaE AT
Tiee|

afe BIS B Hef W S8 &l ST &

T 377 &Y Ygal adT al -

(A) TR & SR B 3R 2t
31k weradr & fore o

(B) S & HraT-far o Gfw B
ToIT ID! FATeT BRIl

(C) Ryt fafdear & aa s
e ¥ Siaer TG Bl

(D) 3 dSb BN TR Ao BT Ja-
gl

w1 TS § T ofd ol afe s1eaTid-

(A) T a1 i &1 TR R

(B) 3= T ST ot 3T &,
dg al

(c) Afd sRIwA & ERT TGril

(D) 3= gard o6 I8 W & fore
TS &

C

159. If some of your students

160.

161.

misbehave with you in the
campus, you should-

(A) inform the principal.

(B) inform their guardian.

(C) improve their behaviour
through your own character
and wisdom.

run a campaign against these
students with the help of

(D)

other teachers.

What first thing will you do if a

child faints in the class -

(A) rush to the principal's office
and ask for help.

inform child's parents and
wait for them.

give him first aid and contact

(B)

(C)
nearby doctor.
make arrangements to send

the child home.

(D)

Students will take interest in the

lesson if the teacher -

(A) behaves with them in a
friendly manner.

(B) gives them knowledge that
they need.

(C) teach through
programmes.

(D) told them it is necessary for
learning.

video



162.

163.

164.

™I I

T8 U e B et grT u e

W BT el I 7 3T, O 3] T

XA Tlfge?

(A) DS 3IE IR T faamel @
I &R o1 Tfee|

(B) fommf o1 ater &= wifge 5 &
TG W A g8

(C) faemeft & aar &= =nfee fs @
e ¥ TR |

(D) foamdt & 5ar & arfee &
QeIdIerd H SR Jed 3 9
W IR G|

THTaRIer R8T & 3rf & -
(A) faenffat @ fear s amer o,
HEdIT, TG T Hicare |
(B) A W & TR BHAI
@l fear mar gus|

(C) ferra frem o wem & el
T

(D) (A) 3R (C) A

Rrefor & qemTHS sremo & fore
St & - |
(A) AHfRE

(B) ¥@iftA

(C) afcretd

(D) U%

C

162. What a teacher should do when

163.

164,

he doesn't know the correct

answer of the question asked by

a student?

(A) Satisfy the student by giving
an ambiguous answer.

(B) Tell the students that they
should not ask unrelated
questions.

(C) Tell the students that he'll
give the answer later on.

(D) Tell the students that they
should go to the library and
find the answer from the
books themselves.

Effective teaching means-
(A) love,

attachment and motivation

cooperation,

given to students.
(B) punishment given to
students after moral offense.
(C) individual education and open
class discussion.

(D) (A) and (C) both

This is useful for comparative
study in teaching-

(A) Maps

(B) Diagrams

(C) Tables

(D) Graphs



165. ot Rreror fifer o vy wfsg w7

T el &, a® fafer & -
(A) TEmTfafy

(B) AcHrI@ur iyfey
(C) weHrR fafér

(D) aratemy fafér

166. Wﬁhmaﬂﬂm%_

(A) Brdshd 3 Bl iR R At
& gitemIoT # faemerar amdr &1
(B) B Fdiaw faart 3k geat &
- IRfIa B €
(C) TRaTH BRimH I e #
| coaeE
(D) 3ugeh w4t

167. 378107 & 399 yore a8 & et -

(A) YR @ 3aTThdT - US|
(B) 3eaT9s BrAT ¥ 7 g

(C) BT JAUS § 3G IaT FHT
I SRaT|
(D) 37EATS 3R BT A o g

C

165. The teaching method through

166.

167.

which a child actively participates
IS~

(A) Story té"ing method

(B) Role play method

(C) Question~answer method

(D) Conversation method

The feature of teaching through

Television is-

(A) The programme enhances
the vision of both students
& teacher.

(B) students get acquainted to
innovative ideas and visuals.

(C) Television programmes bring
unity in national education.

(D) All of the above.

Best teaching system is that
where-

(A) question-answers are not
needed,

(B) teachers ask questions to
students,

(C) students clear theijr doubts
With teachers.

(D) teachers ang Students both
ask questions,



168.

169.

170.

Rreror eraTer 3 Rieror & g 5

fore Tar wewagf &7

(A) TR & F=am
(B) ﬁT&ﬁﬁaﬁw

(C) Frers o Mférs drweran
(D) W & Ggd

HET - P @ faferat o uRad= a=
& fore sreams # Bi9-F & o7 EF
ofew -

(A) wicsaT 3iR 31ferbrR

T © -

() K BE g T
(ii) gsswgrzﬂ'ﬁﬁl
(ili) B B Y T &
(A) (i) @ (i)

(B) (i) T (iii)

(C) (ii) @ (iii)

(D) &ad (i)

C

168. What is important for success in

169.

170.

the teaching profession?

(A) Prosperity of community

(B) Proficiency of teacher

(C) Educational qualification of
teacher

(D) Cooperation of principal

What two characteristic features
should be there in the teacher to
bring change in class work
methods -

(A) Prestige and authority

(B) Seniority and experience
(C) Eligibility and teaching degree

(D) Expertise and experience

If the statement "All students are

intelligent" is true, then which of

these following statements are

not true -

(i) No student is intelligent.

(i) Some  students are

- intelligent.

(ii) Some students are not
intelligent.

(A) (i) and (ii)

(B) (i) and iii)

(C) (ii) and (iii)

(D) Only (i)



171.

172,

173.

e - e Tl P dedf o
Fr=foRea o & Sl9- aa v &2

(A) ¥&d 3FTaRS qen Fee
(B) hadl B&T-H& T INHd

(C) NQHIaYUT T YT
(D) I

U% Haiig def o Rufed ¥ g8 & ddar

tfp -

(A) 9FT - 999 R &4 & Bar
31

(B) Hwguf enf- 32

(C) B e arfe FR=R &

(D) BmE #H FR-5IR § ar-faare &l

Ife I 3R 30 STeTD I TRIET

¥ 5ty UebIR BT NGHTG 3aT UeTuTd

X & fole e, Y 3TeATIH B ANee

5 -

(A) IGD! TETTT B P T B

(B) I Pt o a8 b ool ¥ =1
@e|

(C) TSIl T Ggell b 1Y BT R
GEE K|

(D) PORAI¥ I T6l A T T &
foe 8|

C

171. Which of the following is correct

172.

173,

student

about teacher -

relationship?
(A) Quite informal and close
(B) Limited to classroom only

(C) Full of hormony and respect
(D) Indifferent

A live classroom situation could

be like-
(A) Fountains of laughter from
time to time

(B) Complete peace
(C) Continuous conversation

between student and
teacher.

(D) Loud debate among
students.

If a parent asks the teacher to
discriminate or be partial for his
ward in the examination, the
teacher should-

(A) try to help him,

(B) tell him not to say this again.

(C) stop him from doing this
politely and firmly.

(D) strictly tell him to leave,



174.

175.

176.

U BT & ST T & [ a1 98
% TR A5ATR A 37T We2 S|
ST GEIA o & fore frferiiad
¥ 5y 3ucBRoT BT FART T TP
(A) 3ifrgfe aeon

(B) S olieor

(C) §f& weor

(D) e gRIETOT

U et e, St e 370 Bl
P TEI ¥ U6 ST HiadH
RiaRra | 3y arcy qut ¥ 78 WiaaH
<o Ciop T 21 T o5 RN S,
5 ik 2 5 e el 3 39 WiaaH
B T % Rl TR TR -
(A) Teei uicF o

(B) 3MEIR SfcAM &

(C) weii=d Hfcr o

(D) STl fereeroT SferAr T

| SnafRad F & FT TAAE et &1

ad T8l 8?

() Tafereran & wfa gwM
(B) A P

(C) =&

(D) Ty atf wamgH

C

174. A student wishes to know

175.

176.

whether he will perform well in a
specific job. Which of the following
tools will be used to predict this
situation?

(A) Attitude Test

(B) Aptitude Test

(C) Intelligence Test

(D) Interest Test

A school teacher, M. patel
developed a curriculum model
with the help of his students. This
model became so popular in the
coming years that the schools of
all the districts, states and country
implemented it. This is an example
of -

(A) Demonstration Model

(B) Base Model

(C) Administration Model

(D) System Analysis Model

Which of the following is not a

component of inclusive

education?

(A) Respect for individual
difference

(B) Zero rejection
(C) Cooperation

(D) Special class establishment
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177. Who takes decision in the

178.

179,

'grassroot model' of curriculum

development?

(A) Community

(B) Students

(C) School Inspectors of the
district

(D) Teachers

A teacher organises a discussion
with students and makes them
capable of selecting a suitable
subject in the higher secondary
level. This type of guidance is
called-

(A) Personal guidance

(B) Vocational guidance

(C) Educational guidance

(D) Psychological guidance

Teaching aid that comes under

the Category of projected
medium is-

(A) Pictures

(B) Photographs
(C) Films

(D) Blackboard
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180. Anexample of visual teaching aid

181.

182.

is-

(A) Flannel Board
(B) Radio

(C) Gramophone
(D) Taperecorder

Important characteristics of good
measuring techinques are-

(i) Objectivity

(i) Reliability

(i) Validity

(iv) Usability

(A) (1), (i)

(8) (1), (i), (iv)

(C) (1), (1), (i), (iv)

(D) (i), (iv)

The most important teaching
objectives are-

(A) Cognitive objectives

(B) Affective objectives

(C) Psychomotor objectives

(D) All of the above
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184,

1885.

C

Which processes are carried out

by a teacher to do planning of

teaching?

(A) Job analysis

(B) Identification of teaching
objectives

(C) Writing learning objectives

(D) All of the above

Which of the following point is not
correct for story-telling
technique?

(A) Language, style and content
of the story should be easy,
interesting and spontaneous.

(B) The style of telling story
should be clear and
attractive.

(C) It is not appropriate to tell
the story by reading.

(D) Story should be long.

Which points should be considered

while asking questions?

(i) There should be equal
distribution of questions for
all the students,

(i) Questions should not be
repeated.

(i) There should be variety in the
style of asking questions,

(A) only (i) and (ii)

(B) only (ii) and (i)

(C) only (i) and (iii)

(D) (0. (i) and riiin
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187.

188.

C

Which of the following is not a

teaching technique?

(A) Question technique
(B) Story-telling technique
(C) Evaluation technique

(D) Illustration technique

The most expected immediate

outcome of teaching is -

(A) Changes in the behaviour of
students in desirable

V direction.

total

personality of students.

(B) Development of

(C) Building characters of the
students.

(D) Getting selected for a
suitable job.

Which of the following is not a
characteristic of a slow learner?
(A) Limited vocabulary

(B) Short span of attention
(C) Abstract thinking

(D) Limited range of interests
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189. Field study is related to-

1940.

191.

(A) Real-life situations

(B) Experimental situations
(C) Laboratory situations
(D) None of the above

Which of the following statement

is most appropriate in the context

of effective teaching-

(A) Maintaining discipline in the
class.

(B) Teachers' honesty

(C) Teachers making students
learn and understand.

(D) Teachers' liking for the job of

teaching.

The primary duty of a teacher is

to-

(A) raise the intellectual
standards of students.

(B) improve the physical

standards of students.
(C) help in all-round
development of students.

(D) imbibe value system in

students.
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192, Which of the following is more

193.

194.

interactive and student centric?
(A) Seminar

(B) Workshop

(C) Lecture

(D) Group discussion

A guardian never comes to see

you in school. As a teacher, you

will-

(A) ignore the child.

(B) write a letter to the guardian.
(C) go to meet the guardian
yourself, if possible.

(D) start punishing the child.

A teacher asks the questions in
the class. Its main objective is to-
(A) keep students busy.

(B) maintain discipline.

(C) attract student's attention.

(D) teach the students.
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C

If the students are not taking

interest in your teaching, then
being a teacher you will-

(A) ignore them.

(B) leave the class.

(C) ask them to pay attention.

(D) review the teaching method.

Those teachers are popular
among students who-

(A) develop intimacy with them.
(B) help them to solve their

problems.

(C) award good grades to them.

(D) take classes for extra tuition

fee.

The first source of socialization
for a child is-

(A) family

(B) school

(C) temple

(D) playground
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198. What do you think is necessary

199.

200.

for the development of morality

in the students?

(A) Sermon

(B) Family environment

(C) Worship

(D) Telling them the difference
between good and bad on

every occasion.

At primary level, it is better to

teach in mother language

because-

(A) Itdevelops self-confidence in
children.

(B) It makes learning easy.

(C) It is helpful in intellectual
development.

(D) It helps children to learn in

natural atmosphere,

The quality of school education
exclusively depends upon-

(A) Infrastructural facilities

(B) Financial provisions

(C) International support

(D) The quality of teacher's

ardiirakiam



